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PaboTa ¢ y4ebHUKOM.

Ctp. 27

Ne 88 (y LOCKM U B
TeTpaawu)

Ne 89 (c-HO)



N© 89 (G-HO) = iim—=

=as

1) 6 KM =6000 M

2) 6000 : 5= 1200 (KM/4) — CKOPOCTb
3) 1200 x 40 = 48000 (Km) — 32 40MUH.
4) 1200 x 60 =72000 (KM) —3a 1 u.

OTBET: 48 KM MaLlMHa NPouaeT 3a 40 MUHYT,
72 KM MallMHa NponaeT 3a 1 vac.




PaboTa ¢ y4ebHUKOM.




CT1p.27 Ne 92

E yeennunte

1) "X -20=40x6 2) 15+ Y =800 : 20
X — 20 = 240 15 + Y = 400
X =240 + 20 Y =400 - 15
X = 260 Y =385
260 -20=40X 6 15 + 385 = 800 : 20

240 = 240 400 =400



PaboTa ¢ y4ebHUKOM.

Ctp. 27
Ne 93 (y Ho) ? (C-HO)




- UTO HOBOIO BbI Y3HaNN?
- Hemy Hayuyunuce?

- Kakne 3agaHus Bbi3Bany
3arpygHeHuna?

- Kakne 3agaHus
NnoKasarimcb camMmbiMU
NMHTEPECHbIMUN?




[loma:

Ctp. 27
Ne 90, 94







